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1. Explain in brief  any 5 of the following (  5 * 1 marks) 
a. Unbounded solution  
b. IBFS 
c. Value of the game  
d. Artificial variables  
e. Primal-dual relationship  
f. Pay-off matrix  
g. Big M method  
h. Improvement Index  

OR 
Decision making is not easy, It must be done amid ever-changing factors, unclear 
information and conflicting points of view. Explain.(5) 
 

 
 

2. Reliance company has a drilling platform in the North sea and plans to set up a high 
speed rescue unit. The rescue unit comprises of 6 personnel , who for reasons of  
flexibility undergo the same comprehensive training programme. The six personnel are 
assessed as to their suitability for various specialist tasks and the marks they received in 
the training programme are given in the following table : 
 

Specialised Task 
 

Trainee No. 
  

  
I II II IV V VI 

Unit leader  21 5 21 15 15 28 
Helicopter pilot  30 11 16 8 16 4 
First Aid 

 
28 2 11 16 25 25 

Drilling Technology 19 16 17 16 19 8 
Fire fighting  26 21 22 28 29 24 
Communication 3 21 21 11 26 26 

Based on the marks awarded ,what role should each of the trainee be given in the rescue. 
OR 

Use Simplex method to maximize 

 Z=50X1 +60X2 

 Subject to  



 2X1  + X2  ≤  300 

 3X1  +  4X2  ≤  509 

 4X1  + 7X2  ≤ 812 

 X1 ≥ 0 

 X2 ≥ 0 

 

3. a. State clearly the essential features of  LPP                                                              ( 1) 
b. Solve the LPP                                                                                                           (4) 
 
Maximize     Z= 5X1  + 4X2 
 
Subject to      X1<=7 
             X1 -   X2  <=8 
      X1 ,X2 >= 0 
 

 
4. A company has three factories A,Band C which supply to 4 warehouses at P, Q, R and S. 

The monthly production capacity (tonnes) A,B and C are 120 , 80 and 200 respectively . 
The monthly requirement (tonnes) for the warehouses P,Q,R,S are 60, 50, 140 and 50 
respectively .The transportation cost matrix(Rs/tonne) is given below . 

    
Factories 

   
Warehouse  A 

 
B 

  
C 

        
P 

 
4 3 7 

Q 
 

5 8 4 

R 
 

2 4 7 

S 
 

5 8 4 
 

Using VAM , determine the transportation distribution of product to minimise     
transportation cost . 

 
OR 

 Find the optimum Transportation schedule using VAM method and minimum total cost of 
Transportation 

Company R1 R2 R3 Supply 
1 10 7 8 45 
2 15 12 9 15 
3 7 8 12 40 
Demand 25 55 20  



5. a. Write a note on mixed strategy of game theory                                       (2) 

b. Solve the game                                                                                         (3) 

  
I II II IV V 

       I 
 

1 3 2 3 4 
II 

 
3 4 1 5 6 

III 
 

6 5 7 6 5 
IV 

 
2 0 6 3 1 

 

OR 

Explain deterministic models of operation Research. 


